10.

1.

12

13.

T 9 B F we-w s 7

(A), . T B) ww () sfwmfm (D) ¥
oo & & w7

(A == (B) =fmm (c) T (D)
it % Sromefer o < |

(A = (B) ‘(C) e (D) =
' P arita e O e ad

(A) wg-fim (B) walm-mfes  (C) fuw-=p@ (D) +=EA-%E

Vs =i St S g W vEm - v e i e W e e
(A) TEeR 9fwe  (B) Wi wfem (C) g pEwe (D) i oEERE
Freffias o 9 =/ &y w9 W 9w Wi

(A) = T Tagmt afeen ot (B) it aiften «f == |
(C) =& s famm wfeem (D) 9% U wieen fagm )
S TR T v & Hefam & 7

(A) TEpa H Pre

(B) wfam & )

(C) mﬁﬁﬂlﬁf%{[ﬁﬁﬁﬂwwﬁﬂﬁ i

(D) fe=i# £

B T ¥ Ao 9w weeE e g ﬁﬁmﬁﬁ?ﬂﬂﬁ#ﬁﬁﬁmm%?
(A) TEIEY TEH (B) wHumE TwE c:} AEEiTE HHH (D) ar=rivE o

hﬂﬂﬂgﬁﬂqaﬂmﬁ’w%ﬁqﬁmﬁiﬁm

(A)  HgETE (B) ¥I9TER (C) geri (D) SgEH
i s uEn s mE?

(A) FEHTT (8) fagm (€) sifagm (D) Hew

i Y e 3

(A) TREET (B) HEaEA (C) a1 U= (D) w1 9=

"1 RIS S-SR el el 0 e § .
(A) T - FUE W SIAER T T qEm o
(B) Tl W WA A | W THM T :
(C) Ui =t 7 ww-=w & el
(D) = fem e = wa

Freaferiaa @ § wEitea e % 5ia- m'mﬂmﬁ'-‘

" e ] o e TR

(A) FMEF wRE  (B) HEweE s _{EJ§ wftsn wE (D) HeW wIER
“Hfgr-HiE’ T T SugE A S T R w7

(A) w-waEl  (B) TW-FHTW (C) AEEH-IEEEEN (D) qEme-yee
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15,

16.

17.

R T T R ————

arE | T R ORI e g

(A) WTEH - (B) =M (
' AT Ui e

(A) Tom (B) =m (
FE W e st w wdm g g7
(A) ® B ¥ (

C) -ft (D) em o fam
C) ™ 0)
€)' ¥em () #=

18.  =FE Wifkeram Feiny foy =t = w0 S5 ﬂi.-ﬁ_ﬁ'%ﬁqﬁﬂmﬁmﬁaﬁmw?

19.

21.

) WIS @ wwwmwen (o) s (D) e s
T J F Fhs-w v w2 .

(A =™ (B) am (C) Ay (D) ey
R T A i e iy

(A) ar (B) = sy (C) wHae (D) =T
Frefefea § & S-m e &7

Ay = B T (C) = D) =
e TR T s § 7

() TR (B) T 1ol 5 (0) sEphE
iy v H v A g 7 e

w = B) ¥ (e) s (D) @
‘o’ & TEfg E : i

(A)  Hum T (B) T ami

(C) wirumm (D) AT

Yren wfed ol - Fem o g

(A) T wfEer we (B) wourE vfawg w1m

(C) eyl EeHrEERTE (D) T T

T 8 8 s v wifEm 7

(A =R (B) *W (c) =m (D) FoEm
" W FE e, WY w4

w1 e A - e 2 A

(A) T (B) == (c) e (D)
frefate § @ adfem o B ah-mE? O

Ay 8 (-) 1€y G 0y (=)
o g 7

(A TR 3 i d el w5 wen g
(C) ! H T W 9 A

8y el o
(D) Tiferd! = it W SE
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30. "FHEEE'H =IERE I
(A) i (B) Wwﬁ“'"
(C) wmret == (D) TEIEL
31, 3 O o e e A g (D) TEETE®
(A FrivET. (B) faarmErEs (c) T
32. ' o foreim e Q) T
(A wifE (B) T (c) TN v i F 3R TR

- Rl |
LW & 33 & 37 Tarivr vyt ] SR & oty o e @ i ey 2 e ey
mﬁﬁwmﬁﬂﬁﬁﬁlﬁm'ﬁﬁmﬂ'ﬁ;ﬂiﬁm ﬂr{mﬂ_"’@?‘w
“ft ST = SR W T s e T8 v ) o S o & qﬂmﬁﬁﬂ# ﬂﬂlﬁ&ﬁr,ﬂ
T W T ) @ e o e e e “ﬁﬁﬁﬁmaﬁqﬁﬁﬁﬂﬁwaﬁw
vl Tl e e 1 et g v I E N e i 7 S A gy
1 it R 7 e 8 o v s A A @ A AT it it it o o9 4
S ¥ ol ol o o) A, 3R q AT VIO I G ot | 2D et g
T | T e i S s w5 faee, i S S ﬂaﬂﬁmﬁﬁqﬂmﬁﬁﬁr}f
e waf 1 A T & T, O s @ sy fre | A 25 aftad S T SR H vy
1 i st ¥ st e & e e T e T A | S 3 e 5 e 0 1
@ﬁﬁﬁmwﬁmm.ﬁﬂ%ﬂmﬁeﬁﬁmﬁﬁﬂ@ﬁﬂﬁﬁwﬁﬁw
e T . Tl T T i s | i i fae i @ 58 g : EE
mﬁlqrmaﬂﬁmﬁﬁaﬂ:ﬁuﬁrﬁrﬂﬁ.'@ﬁﬁm%ﬁw%mqaﬂﬁmﬁwmmﬁm?@
E*‘ﬂ';l!,ﬁHﬂﬂ.%ﬂ?ﬂﬂﬁ@ﬁﬁﬁﬂﬁ#ﬁﬁﬂﬂﬂﬁﬁﬁ?lﬁﬁﬁﬂ%ﬁﬂﬁﬁﬁh%?mﬁ
Hﬂaﬁﬁﬁimﬁﬂamwwtﬁﬁrﬁ?mﬁﬂﬁﬁmﬁﬂmﬁﬂﬁmﬁﬁﬂ*m%m
T A T T T TS o S o e g we Fe e #, i e e S == o W T 9 o
1 R W e W £ 1T o e favg Sl € g, o v e w e e i E A
e sfaers ol vy me i ofn fomrd =it # o faditt| 3 wan fon ue wtima o §, U T an e e

o e A | U T T S g €, U giie it 0 o8 § | i, 9 9 i e i
g aven 4 gfe 7 w0

33, IO T ATEE, ST T W S+ e e s g 7

(A)  FTH-TTIE = T R (B) TR ¥ WA w1 B
(C) e aftas =en ¥ (D} TR e Em

a4, nﬁmqﬁfﬁr#mﬂ%mﬁaaﬁaﬁﬁﬁmmﬁﬁ?
(A) U = TFEER (B) T M e
(@) U @il ¥ aiig frem BT Rk C—

35. e et & e - MY
(A)y T e A R '{Ei- e
(C) i ¥ (0j E% ok

A

36, HRA A FTH A W F D = o
(A)  FTH T (B) sTmER (g

m‘i (D) 1ot o



37. uTE B W A e H e a1

(A) T feern (B) g ud st w1 fieen
(C} w=w =t el w fimm (D) W9 Tt = Hen e
38. ﬁﬁﬂ;ﬂﬂﬁmm%?
(A) (B) (Cy- fifm
The national currency of Sri Lanka s ; L R
(A) Euro (B) Kyat (G)- Ringgit (D) Rupes
39.

(A)  4.90

(B) 1.80

4 2021 A % afy f warfi 2000 ¥R F AW Tw= (v fefermm ) s 22
Whatis the value (in INR trillion) of Rs. 2000 notes girculated at the end of March in the year 2021 ?

(C).] 2.00 (D) B.00

40. i W AW AT S A e F TR - s % s e e, e s & 7
() HEEGE | (B) E:ﬂ@ﬁ*l‘ﬁﬂ | (C) Infam (D) =i
:‘;T;g;a n:?:eugtrr is known for its extensive use of geothermal energy due lo its unigue volcanic
(A) lceland (B) Australia (C) ~Brazil (D} Norway
41, TEl & W ITEE E AN G 5 = AT 8 gl v w6 osn e
(A) EE SEM (B) wETEH (C)~, FF5ETER (D) wiEE F2M
The economically secure white people migrated from urban areas to suburbs is called *
(A) Black flight (B) Migration O Immigration (D) White flight
a2, s E fEa 2w deE 32 LN |
How many countries arg present in Africa 7 LL
(A) S8 (B) 50 (C) . 54 (D) 52
43, vFAH'#iEH TR g e e *L4
(A) R s faid afivm T By Ewm P s
(C) W wEmEt i R Tt sifaEe (D) dH-uEE e
What is the 'Operation Green Hunt’ in India ?
(A) Counter-insurgency operation in Kashmir (B) Anti-Naxalite operation
(C)  Anti-drug trafficking operation (D) . Anfi-piracy operation
44, E=pieT (WP ST ¥ §
(A) = WEE tEew (B) mgm-n e
(C) i filz i2=m (D) e wew 59
The full form of WPl is : S
(A)  Whole Price Index (B) Wall.Price Index
(C) Whole Print Index (D) Wholesale Price Index
as. fard m & soreh = welE o U 3 e % we A sl wgrn fidm
(A) 4-5 T ®) 1-27m@ ©1o-1nwmm (D) 7-8TE

The financial or the banking system will receive an additional boost in terms of

base money each year.

{A) 4-5lakh (B) 1-2lakh

Crora of

{C) 10-11lakh {D)  7-Blakh

MYZ-24
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46. A T sigr wfy i & s w SRR E7 .
Which international treaty focuses on the rights of children
(A) ICERD @ oRe (C) CEDAW ) o

47. = R e o s i Elﬁlﬂﬁﬁe!'ﬁﬁﬁ o 1 e S =
(A) e e Wi fafiE (GAIL) o (B) T ST
(C) ¥ oI W o Refiree (D) dfe s it fafres T
Which company has become the first numpany in India to trade domestic gas as
Exchange 7

(A) GasAuthority of India Limited (GAIL) ~“{B) Bharat Petroleum ey
(C) Oil and Natural Gas Corporation Lid. ~.}-|{I]j| Inclian Oil Corporation Limi

48. SAARG %1 wes 341 £ 7
(A) =y ufirm EifEe W e wEieE
(B) H=W SIS TETETE Wi deme wisiiyE
(C) w=u-3 UivEr THiaueR i deme s
(D) Ty e vhifaees s feme S
SAARC stands for :
(A} South Asian Association for Regional Gobperation
(B) South African Association for Flagmnal .ga_?cperatlun

(C) Southeast Asian Association for Regional Cooperation
(D) South American Association for Hegmﬁ:m'cmpmtlun

49. TEEER g wEilEd SeiteEs OTT #iHiE - ﬁwﬁ;mmﬁ&ﬁmirﬁm?

T 7

(A TafEw ameamh {Elj.,, Euaifmm

(C) Ti=m fem (), qHETS

Who directed the critically acclaimed Nalﬂm;’j series - Delhi Crime 7
(A)  Nikhil Advani (B) “Hansal Mehta

(C) Richie Mehta (D) Vishal Bharadwaj

50. Sf=EEnRIGEEITC Ty sy EmE?
(A) ST TN T (St S
(B) YR 2= e ..
(C) Yerere o W F '*H**
(D) m#mﬁ{mﬁﬁmwaﬁm}
In terms of economy, what is the full form of I'FG T

(A) Internal Tax Commerce mtte
(B) Input Tax Credil ")
(C}  Intemational Tax Comparny |
(D) Internal Trade Commerce ¢ AJ
51. 9 9 wia gy feew fam ol F wmn wmmd
(A)  Tomem (B) EwT (C) T (D) ==

Mational Milk Day is observed In India, in which month 7
(A) September (B) November (C) December (D) June




§2. TEE T=AN wiufEm, 1956 R w AR wem dm gy
(A)  HE (B) ==EIEHE W (C) WEW W
National Highways Act, 1956 is applied to which tax policy 7
(A} Service tax (B) Professional tax (G), Eniry tax (D)
53. eifer wE (o S de) P TEE 2
(A e (B) wFHww AC)  wefa (0) =FmTE

Galilean satellites (or the four moons) belong i which Planet 7

(A) Neptune (B) Saturn AC),  Jupitor (D) Uranus
54, Wwwn T EA T OER ReEE w2 (N

(A) gl (B) TiERES S

(C) wFaE & & = (D) wuFHE

Who has the power to dissolve Lok Sabha 7

(A) President (B) Speaker of Lok Sabha
(C) Chief Justice of India (D) Prime Minister

55, ﬁmﬁﬁﬁﬁmmmﬂmmm@?@amﬁmcmaﬁaeaa;ﬁﬁﬁm%?
(a) TR0 A IR WE e

(D) & =

Toll tax

(B) Tt &= F T 5t e ::'c,,_;

(C) FE@ Toe afas] 5 78 w5 .

(D) Wl T T :f

Which of the following is a feature of the Mahatmaﬁandhl Mational Rural Employment Guarantee Act
(MGNREGA) 7 s

(A) Guaranteeing 100 days of wage empﬂnyment per year
{B) Offering employment in the private sector

(C) Targeting only skilled labor

(D} Providing urban employment

56. ASEAN (=nfeam) & ddy ¥ vrm =i ‘ww g’ fifn = v e g7
(A) ﬂm-ﬁmﬁ#mﬂaﬁﬁmmwﬁﬁmﬁﬂmﬁ%
(B) TR & a6 A H § v
©) FEfE T R AR

= I

(D) eFerTEETE) A w AT t_'

in relation to ASEAN, what is the importance of. Indla 's Act East policy 7

(A} Enhances economic, strategic, and cultural ties with Sputheast Asian countries
(B) Reduces trade opportunities
(G) Limits diplomatic engagement

(D) Promotes isolationist policies

r"-.H!
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7
57. ®E i H, frm fowm w5 siafe s & ﬁqmsdﬁﬁ@.‘ﬁ'ﬁﬂ“ﬁwwmm'

(A)  =EaE-3 e (B) W s e
(C) TrEF A (D} ., <lemm-2 five o
HE‘G-EHH'_.I', which mission received the 2024 John L. ‘Jack' Swigert Jr. Award for space exploration ?
(A} Chandrayaan-3 Mission (B) - Mars Orbiter Mission
(C) Gaganyaan Mission (D} * Chandrayaan-2 Mission
58. DDoSsgeiwd ¢ !
(A fefizes a ol wff (B)  =riEe femm aits wE
(C) Tares fommm aitw wfda fn}.m@a@zmﬂﬁaﬁh
Full form of DDOS is .
(A) Distributed Data of Samm (B) ' Direct Denial of Service
(C) Detailed Denial of Service (D) Distributed Denial of Service
59. 2014 ¥ wra # Wiew wift g fees ura fem 7
(A) e (B) Femmwemdl  (C) werEmm (D) =i HOE

Who received the Nobel Peace Prize in 2014 In India 7
(A) AmartyaSen  (B) Kallash Satyarthi (C) MotherTeresa (D) Nadia Murad

60. WG yeiw ‘% fied 3 & Afew” fords g et 7 82

(A) T T (B) WHYH FW [N )(C) wa = (D) =fod 2Tl

Famous book ‘The Return of the Mative' is Wn’rtan by whom ?

(A) BillGates  (B) M.M.Kaya h[c}u Lioy Douglas (D) Thomas Hardy
61. mﬁﬁﬁmﬁﬁﬂﬁrﬂmﬁﬁ?ﬁiﬁﬁﬁ?

(A) T (B) TrmE ~J(C) wfew (D) HERIE

Ellora is a secred site in which of the followingstate 7

{A) Rajasthan (B} Gujarat un_:[ﬂ} Karnataka (D) Maharashtra
62. HifafEmrtw=E?

(A) SR St STl W ¥ SR S
(B) e =it HA™ % SrEen e e
(C) ST =1 Faa 9 =7 onaga e &

(D) %mﬁmﬁﬁﬁﬁmﬁmwmai

Who are ethologists 7 ™o

(A)  Scientists who study the behaviour of*wild anrmais
(B) Scientists who study the behaviour nLﬂmans

(C) Scientists who study only plants o

(D) Scientists who study ethos MYy

63. mﬁmﬁmﬁmuﬁhﬁmmmmﬁmmﬁ%%mmm%?

(A) "EEATEm (B) THew Cac) =t (D) wfagE

Which traditional dance form originating fram, Uttar Pradesh is recognized for its dramatic storytelling
and intricate footwork 7 ;

(A) Bharatnatyam (B) Kathak (C) Chhau (D) Kuchipudi

TN W e W N 1 S X BT N e e N e T T ey i
MYZ-24 8




65.

E6.

N T S, T £ R PRI St S

W] TEE HE G PMEEY) W R 2

(A)  SHferh S sent o1 ey i s 2 & ST v e fafol w0 s & fer fEATE A
HiETE WEE w

(B) Wmmﬂﬁmﬁaﬁﬁaﬂnmlﬁaﬁ?ﬁwﬁwﬁmﬁ;mm
! :

(C) e il w1 Foifms e & i1t il o6 aen 2 o, 5o sy it e 21

(D} i & & wes e = Aadh My

What is the Pradhan Mantri Fasal Bima Yojana (PMFBEY) 7

(A) Supports and promotes organic farming practides and provides subsidias e
adoption of sustainable agricultural methods.-

(B) PMFBY improves rural infrastruclure and provides employment opportunities to youth in
agricultural communities.

(C) It regulates agricultural markets and ensures fair prices for farmers' produce,
(D) Supports sustainable production In the agrlculiure sector.

feme 3 dramm S Hem Hifem Sewtd w ' SierE o e 2

(A) TS U AEwt st e | detaa & el e &

(B) @ o gt s e s § P,

(C) =W H I S+ e )

(D} & = A 39 e = P

What does “verified account” signify on social m Ia._ﬁlat_mrms like Twitter and Instagram ?
(A) The account belongs to a public figure or organization and is authenticated

(B) The account has a high number of followers™ _

(C) The account is used for advertising b |

(D) The account is frequently used N

[
wra st =1 wE i S = e amel § wgae e T
The Universal Declaration of Human Righis is translated into how many languages 7

(A 200 (B} 400 {C) 500 (D} 300
TR I g g7 i

(A (B) STEMTET (C) =M (D) =T
Real is the currency of which country ? i

(A) | Brazil (B} Afghanistan tﬂ}n.._@hutan (D) Canada

I Y T E (g Wt el g Hifa W He R

(A} A sfie i faeRE R A P

(B) I dE % 29 % e w o gaee

(C) T Ui % &9 % W wieptts sweE-TEEsi S e HwE e
(D) =Rm-gE v ¥ iy i sl i Sl v e

What is the main purpose of India's Look East Policy ?

(A) Promote agricultural development within India., |

(B} Improve relations and trade with European Union countries.

(G} Enhance cultural exchanges and people-to-people contacts 'u:.rllh countries in East Asia.
(D} Strengthening economic and strategic ties with Southeast Asia.

oy ws X m.—-::-m::—_
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1842 T urg Sig WEeE F T99 4 T S w5 97

Is
"

(A T HE (B) TTE AEZEA

(C) wiE wfm (D) witd femfeen

Who was the Viceroy of India al the time of the Clult India Movement in 1942 7

(A)  Lord Wavell (B} Lord Mountbatten

{(C) Lord Irwin (D) Lord Linlithgow
70. # s H TR A W A I S e mmeren vt ¥ |

() Tty (B) Fa feggfein (o) i (D) s-F@ ==

imvolves changing data prior or, durlng Input into a computer.

(A} Smishing (B) Datadiddling -~ {C) Catfishing (D) E-mail bombing
T1. EEuwh, widwEe ol i € |

(A) 3T W B) =mmEe (o) fem (D) Tt Hufw

Trademarks, copyrights and patents are :
(A) Intangible assets (B) Current assets (C) Investments (D) Fixed assals

T2, =9 | R 2021 ‘ﬂ’fhﬁ#ﬁﬂﬂﬂﬂﬂﬁ@ﬂ?ﬁﬁ?ﬁﬂqﬁﬂﬁﬂﬁﬁﬂﬁﬂ?

(&) =E (B) I WEEER [ 4(C) TERmEE (D) FFuEn
Which country became the first to make use nl,EIEtmIn as a legal tender in 2021 7
(A) Japan (B) ElSalvador - .~ (C)  Switzerdand (D) Venezuela
73. Trefafes § & %1 W G2 wEEen  FEfn SEm de wE e S e S 92
(&) TEes fETEm (B), gﬂﬁw L REE
(C) wr= (D). ﬁ?ﬁr T arifiE
Which of the following countries was tha flrst l:u achieve controlled nuclear fusion in a laboratory
sefting 7 L.
(A}  United Kingdom (B} ™Soviet Union
{C) France (D)  United States of America
74. 9 57 1 quvm iy G & sy § g s 7
(A) HTE T EE AR (B) mrd = g e
(C) =il w1 HrE wifar (D) =8 =1 geen 2o

Which day is observed as Mo Smoking Day'?_) .
(A) Second Wednesday of March (B}, “First Tuesday of March
(C) Third Saturday of January (D}~ First Day of May

75. YA T G99 =99 AUwed S wE 7 N
(A T e, T et )
(B) w=ufd fomars weRe 9w Huew, ﬁﬂﬁ 1
(C) e =i Hawer, SeTEs e
(D) wiedra e, Frerhm |
Which is the largest museum in India 7 ;
(A)  National Museum, New Dalhi
(B) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbal
(C) Salar Jung Museum, Hyderabad
(D) Indian Museum, Kolkata

MYZ-24 10



7B.

a81.

o Fifem wmafn w2 9d % T 500 1 =2 @ Twafs = 3280 w8 & o gm afn e B2

The compound Interest on a certain sum of money lor 2 years al 5% is Rs. 3280. Then the sum is -
(A} Rs. 36000 (B) FAs. 32000 {C) Rs. 34000 (D) Rs. 30000

T2 6 BE T siwa w50 Frm E: 2 ot w0 i Wi s3 e 8, 3l 2 ol = sl yrss fEm E, wEd
(A} 52.5 Fem (B) 55 fam (C) 51.6 fmm (D) &4 fiFm

If the average weight of 6 students is 50 kg; that of 2 students s 53 kg; and that of 2 students is 55 kg;
then the average weight of all students s

(A} 525kg (B) 55kg (C) S1.6kg (D) B4kg

90 s1fE whafee 10 92 w7 ek 12 G 0 v F W w1 wwsd €, @ 30 =i v 6 d o
=03 W e ft 1 qu w7

{A) 26 fam (B) 14 A (Cy 15 A () 20 fas

39 persons can repair a tunnel in 12 days working 10 hours a day. In how many days will 30 persons
working 6 hours a day complete the work ?

{A) 26days (B) 14 days (C) 15days (D) 20days

=% wad T2t e faed 900 =it 1330 F Falm =0 Wwne: 6 #ir 10 e wE g E
The greatest number which divides 990 and 1330, leaves remainder & and 10 respectively is
{A) 35 (B 15 (C) =20 (D} 24

300 =g @ fawa UE, 500 e % wa e S qUedE, @t il e faem = i
S.P. of 300 articles is equal to C.P. of 500 ar‘tmhﬂs Find the loss or profit percentage.

(A) T2(273)% (B} ©6(273)% [C} 24(2/3) % (D) 25(23)%

a0 gt =1 a1 E?lﬁﬂ‘ﬂ‘lﬁ'ﬁzﬂ'ﬁlaﬁﬂﬂ1 1 ¥ s e o w ofea 1 &, S sifm g s &7

The average ol 30 numbers is 1.2. The average, of the first 20 of them is 1.1 and that of the next 9is 1.
Then the last number is :

(A) 4.8 (B) 4 “*{E:J 5 (D) 4.8

'!.iﬁaﬂﬁﬁr-ﬁauuuumﬁ@ﬁamﬁnﬁ'ﬁﬂmmﬂrﬁﬁm%#wmﬁnmﬁrﬁmﬁ
oI TR EE e | TR S A W 1% W e § o i e e e w2

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole lransaction. What is the cost price of the
harge ?

(&) 32,000 (B) 18,000 (C) 20,000 (D) 30,000

T = T = s e S W w40 R S 30 v/ fesm ¥ 2E7 | w
T i Tiremen s e @ifn faaw &1 32 vy feeiom =R wEE e AW ?

The ratio of quantities of sugar in which sugarcosting As. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no vgairl or loss when the mixture is sold at Rs. 32/kg ?

Ay 30 (8) 4 C) 14 (D) 21

= fermedt | EHﬁ—ﬁﬂﬂ'ﬁmﬂl'ﬂﬁﬂ?m~ﬁﬂimaﬁﬁﬂaﬁﬁﬂqﬂflﬁm-ﬁﬁm
s 5:6:7:8:9:10 % mﬁ#ugﬁﬁﬁmmﬁ 60% == wre e | 3a fem we-osl | s
#%i ¥ 60% T w0 3% WA fru 7

A student appeared in 6 papers. The maximum nnari:s are the same for each paper. His marks in this

paper are in the proportion of 5:6:7:8:9:10. :‘.]'.rﬂrall he scored 60%. In how many papers he received
less than 603 marks ?

A 3 (B) 4 (C) & (D) 2

MYZ-24 11 P.T.0.



& ferg
B5. T WM = #, A FE w9A % 1/6 % for geft a 1/6 T A A p @ ERd = 1/4
E:r:%m v W 3 3 C 0 o Gt v 3 for el e, A 1940 7 WA B =1 fewm
?
In a partnership business, A invests 1/6t of the capital for 1/6 of the total time, B invests 1/4'" of the

capital for 1/4 of the total time and C, the reét of the capital for the whole time. Find the share of B, ot
of a profit of Rs. 1940, ;

(A) Rs. 120 (B) Rs.160 " '.(C) Rs. 180 (D) Rs. 200

86. 50% 3T 40% 3 wivs 92 el woe w87
Successive discounts of 50% and 40% equal a single discount of :

(&) 20% (B) 70% ey 48eh (D) B&0%

87. 12,000 ¥ W9 W ¥ T 209 wh =d 1 & wmafy =, wRate = A §
The compound interest on Rs. 12,000 for @ months at 20% per annum, interest being compound

quarterly is :
(A) Hs. 2089.70 (B) Rs. 2136 (C) Rs. 1750 (D) Rs.1891.50
88. A TE F 1 63 Firfl F T & A B, A 3 7N F 40% SN FOE €, T 3w FFAH B
foerw o, feil =6t wem w0 # 7 e
(B 60 fam B). 45% (Y (C) 49 f& (D} 40T

A can do a piece of work in 63 days and B 187403 mare efficient than A. Then the number of days taken
by B to do the same work is : p

(A) 60 days (B) 45days S'T':GJ' 49 days (D) 40 days
Ba. E‘uﬁa‘rr?s,zFﬁﬁixﬁa!ﬁ:ﬂmﬂraﬁmtﬂf?ﬁﬁmﬁﬁﬁﬁaﬁmaﬁﬁfﬁﬁf'@ﬁﬁrﬁiﬂrﬁaﬁ
T | .
(&) 126 =t (B) 154 9t {sJ(c) 1507 (D) 1184
A train is running with a speed of 79.2 km/hr and it crosses a pole in 7 sec. Then find the length of the
train.
(A) 126m (B) 154m ({€) 150m (D) 118m
90, ofs foea 7 1 7% 9 9579 F 8% F 30 2 ol fara e w1 9% R R W 2 T | 109% AR
&, 7 W g oiR faera e vm witad |
If 7% of S.P. Is equal to 8% of C.P. and if 9% of 5.P. is As. 2 more than 10% of C.P, then find C.P. and
B.P.: ' (i
(A) 350, 400 (B} 700, 800 Ee’fc} 800, 950 (D) 350, 700
Ll

91. 3 % = nif =1 SR 3:4:6 T, 7w g@-ﬁﬁﬂqﬂmmﬁﬁwﬁaﬁ T T ST w7

The ratio of speed of 3 cars are 3:4:6. Whé:’E-ié the ratio of time taken by these cars o cover the same
distance 7 '

(A) 6:4:3 (B) 4:3:2 ey 2:3:5 (D) 3:4:6

I ™
S
92, 0.7,0.35,1.05 % 9HN.(HCF) 7w S|, |
Find the HCF of 0.7, 0.35,1.05.
(A) 0.7 (B) 0.35 (C) 1.005 (D) 0.7

e e L S B e e =T

MYZ-24 12
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24,

a5,

96.

afe; Terlt e w409 s sifRa ¥ afs T & sl HEE T x% F gz ad &, @ 12%
1 AT T W e 1 Ay ue o W R 2,400 w9 § T 1% T aifeT €, W o
] fawnd e w4 B ey 7

An article is marked 40% above llm:mﬂi price, If a discount ol x% is given on the marked price of the

article, then a final profit of 12% is obtalhed. Now If C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of that now article 7

(A) Rs. 2480 (B} Rs. 2,880 (C) Rs. 3,480 (D) Rs. 2,400
eUE i SioE wE i i 66 FrdlaE i v oevm & e = w1l 56 TRl e ) S e, 9h
T e Tl B2 (N

Excluding stoppage, the speed of bus1§ 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min 7

(A) 19 (B} 20 (Cy 10 () 15
afy = g i e g v w2 € of 270 Te v =0 W ¥, 9 o= e e fom =5 sl de e wg
g7
(a) e B R © = (D} wfe
If you start facing East and turn E'?'UT Lfl_.-hraas anticlockwise, what direction are you facing now ?
(A) South (B) Nerth®' - (C) East (D) West
§

T i g v, ‘FLOWER' =i ‘BROELW' % &9 ¥ Sifen i = &, 1 ANIMAL =1 35 vt feran
S —

In a certain code language, 'FLOWER(Is coded as 'RFOELW', then 'ANIMAL' will be written as :

(&) LANIAM (B) LAM,I@J‘I‘_E {C) LAJDNM . (D) LAlAMM

Frferf % A T S A W S 32

Which of the following sequences is different from the rest 7

a 1,4,81&6 b. 1,8 27 64

a. 2, 6,12, 23 d. 1, 16, 81, 256 _

(A) 1,827 64 (B) 2,6,12,23 (C) 1,16,81,256 (D) 1,4,9,16

70 fameq =1 g fomd shem SdidsEy =1 W wof § = fg T wen g g e R T

Select the option in which the numbgrs share the same relationship as that shared by the given pair of
numbers, ; Fia

12:20 (|
(A) 19:233 (B) 30: 42— (C}y 25:57 (D) 34:31

i

siaen & g e (A 3 B) T HLAAT B - A 1A 0 HE
Find the missing numbers (A and ERI{JQ..{hE series and find the value of B—A.
11, 22, 33, A, 55, 66, 77, B

(&) 55 (B) 88 ©) 33 D) 44

MYZ-24 13 P.T.0.



100. FH MRid = TeaH ot ded = T = §)

101.

102,

103.

104.

105.

Identily the figure thal completes the pattern,

? _.
(%)

(A % (B) @ _.--tﬁ: (D) %

ﬁtlmmﬁmﬂ’,mﬁﬂmmﬂrmﬂmmmﬁqm%mﬁﬁmmﬁaﬁﬁuwmﬁﬂfa#&lil‘
T T F A A e )36 9w uEen |
e v W : “MACHINES"

In the following question, you'll find four other words provided alongside a givan "'"mr":ii E"E of-these
words cannot be formed using the letters of the given word. Can you identify that word =

Givenwaord ; "MACHINES”
(A)  SEAM (B] NAMES (3 CAMEL (D) MESH

frmffan sm =t = § e ot ol Tk 25 et e vl o T e
REKSSEB2%"ETABLSI45V7T ICEIE'{@:_H1 3&aD

& Tt sfeen § svren we Fraifa = 5e2, *78,84V,
Examine the following sequence closely and respond to the questions that follow.
RKS9#B2%"ETABLEI45VTICEN@H13&D

Determine the next term in the series : 5#2, 178,84V,

(&) Hia (B} LB% '==h-,_{§] HG# (D} 6@
weifi = =i Ca

(ECae I rate PR O P e

(A) =™ (B) (C) wH=gds (D) == '

Find out the related word :
Triangle : Polygon :: Sguare : ?

(A) Circle (B} Rectangle {C) Rhombus (D) Quadrilateral
Haift v W v wmd

e Tafeosr ol o weg ;7 )

(&) W (B)y =W rh (C) =t (D) =ToER

Find out the related word. 5 l__"‘-"j

Surgeon : Scalpel :: Carpenter : 7 e

(A) Camera (B) Brush -(G) Saw (D) Computer

4z 3 'RECONCILE' 3 43, 53, 74 oftt 6% Sreril 91 1w wreler = a1l 9,1 9/ 2 =10 el 21 31
AT WA T FRe s e T W ) 2

(A) = 1‘,_,':;_3;# LG HE) =m (O} =+

It & meaningful four I8tters word can ba formed from the 4th, 51 7% and 81 letters of the word
‘RECOMNCILE’. Using that letters how many meaningful words can be farmed ?

(A} Two (B) Three (C) Four (D) One

S

MY.Z-24 14




106.

107.

108.

108.

bl e

_t_ctmt-—ﬁ-_t-—t-:-_

MyZ-24 15

200 BT % e % AR 9L 140 TE T FeE e ey ¥ 120 ol 9 frewde vee &, oiw g0 vl
=1 =61 TEE € | fEas ol W W § =Y 0 T o i

Based on a survey of 200 students, 140 studenis lilke cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at least one of the drinks 7

(A) 200 (B} 140 {G). 180 (D) 75

2 " sfmen H T A4 HYE I wifE 4

Find the missing letter cluster in the given series.; |

BYHM, CWKM, EUNL, LQTY €23

(A} HSQK (B) HRPQ (G I,GEFH (D) GRPK

P & @ Wt = s wheensl, T S fomail % S wd w) T o o i 22

Which of the following diagrams best represents the relationship between Women, Mothers and
Fathars 7

@ ~O g% O

ey T T =T ITE S TGH FET 2006 mmw%ﬂmﬁwm#wmﬁﬁﬂﬁaﬁﬁr
Taeet ( 1000 =t den ©) T )

The bar graph given below shows the sales GI bmhs {in 1000s) from six branches of a publishing
company during two consecutive years 2006 and2007.

2006 ﬁnm?ﬂuﬁmmﬁwmwﬁl A2, A3, A4, AS ST AG T Tl 1 Tawl (FET
i dE H)

Sales of Books (in thousand numbers) from Six Branches - A1, A2, A3, A4, AS andAGof a publushlng
Company in 2006 and 2007.

;" . 'i

l"'-._h ,i

o e
A AZ A3 A A% AR s

| 2006 2007 -, |

aﬁﬂﬁi‘ﬂ;mwAeaﬂaﬁfﬁaﬂwﬁaﬂ%mmmaﬁﬁmﬁﬁwm%?

Whau::; the ratio of the total sales of branch A2 for both years to the total sales of branch Ad for both
years

(A) 7:8 B 87 (C) 5:7 (D) &9

P.T.O.



110.

1.

Mz

113.

114.

MYZ-24 16

"'&ﬁffﬁ‘ﬂ-ﬁﬁrﬁmﬂﬂaﬂﬁmqﬁm”lg‘qﬁaﬂﬁ,“ﬁﬁlﬂmm{”mwmg?

(A} T Brei & e
(B) =999 T 70 Thal T
(C) S aTEem & gry T
(D) ZamE =1 e : . )
In the context, "They were caught red-handed trying to steal’, what does “caught red-handed" imply
{A)  Found with red-hands
(B) Caught in the act of commilting a crime
(C) Found injured
(D) Act of kindness \
RS ) W i el el R o < i T B MRns ) e S e
HRUMG: L a7 AT o € g0 gmm oy §)
ot g |
frepd . 1. =W o=m w1 ool )
2. W A
(A) = TR srE W (B) e fred 2 srqE @ ©
(C) = Fred 1 =i 2 S wEE- (D) Frd 1 argE O § _
E'E?d*g]iﬂ assumptions and selact the best conclusions/conclusion that follow/follows the assumptions
amnni ; B
Assumpions: | Ajay is the father of Shireyas, Suraj is the brother of Shreyas.
i Seama is the motheral Shrayas,

Conclusions: 1. Seemais the wife af Afay.
2.  Seema is the motherjof Suraj.

(A) Both the Conclusions follow ¢ 7(B) Only Conclusion 2 follows

(C) Meither Conclusion 1 nor 2 follows =™ (D)  Only Conclusion 1 follows .
i '-'\..I-.- t

g A%B=A+B—1, T 1052 TN E? l 4

FAS%B=A+B-1, whatis 10% 2 7
(A) M (B) 12 (G} 20 (D) 5

W S 10 et S @ i we & fm 20 wet o sin aem $, v 20 dien o i se ¥ R e
10 =R 51 30 <o €| 9% IF @ 37 o Thal 5 = T g ?

(A) 28 T (B) 51 7= (C) 25 (D) 45 =

A person moves 10 meters north, then 20'meters to the right, then 20 meters to the right once more,

then 10 meters to the right again. How fﬂl';_'h_ﬂﬁ:hﬂ gone from the beginning 7
(A) 28 meters (B} '51 meters e AG) * 25 melers (D} 45 meters

i 1 79 H e 7o 55 el 8 AR 62 frel @ &1 T fum s 3 T 79§ o
T o & i il 1 w9 50 TR W S eifes 60 el @ W 8 ) uet aw W e s, s
Eﬁsﬁﬁﬁﬁaﬂfhﬂmﬁﬁmtlﬂﬁﬂiﬂ AT S A T o e & fatas dwifas wi =
Y7 ' i, SO
In Karthik's opinion, his weight is greater than 55 kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that I{arthiS{:elght_Js:grealer than 50 kg but less than 60 kg. His sister's view
1

is that his weight cannot be greatey than 58 kg. If all are corect in their estimation, what is the a
of the different possible weights of Karthik 7 varage

(A) 57 (B) 60 (C) 58 (D) 58




115, =f5 A 3B < o= 5o wen & i, A 1 a0 i den 20 3, B § o 91 g 18 ¥ sl A s g S o

116.

117.

118.

119.

120.

121.

122,

123,

el w1 W@ 10 , 9 n(A w B) I Sifag), -
If A and B are two sets such that number of elements in A js 20, number of elements in B is 18 and
number of elements in both A and B is 10, Tind n(A w B),

(a) 38 (B) 48 (C) 18 (D) 28
& T sjeen # A T WL :

Find the odd onga from the given serles ;|

4, 16, 36, 64, 100, 121, 196, 256

Ay 121 (B) 100 o '(C) 256 (D) 36

sfarem 1, 6, 23, 76, ¥ syt T am i

Find the next number in the series 1, 6, 23, 786,

(A) 274 (B) 148 (C) 198 (D) 237
4sgwwmﬂ$rMﬁﬁfﬁmuﬂﬁﬁnzﬁﬁfﬁsaﬁﬁmmmmﬁ%mmﬁﬁMI
48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.

(A) 13.5% (B) 9.8% (C) 7.9% (D} 8.9%

4f% ¥ TLBSBEAKLA % =1l 1 wiotfafier soh w G =1 9m w9 wm Tl S A % 2 e
H Ta SE T4 B 7 . i"“a.l.:'i ’

o6 S o ot 16 i S e L e farora af e Word TLBSBEAKLA, hén What Wil
() T (B) B -==(C) § (D) E

T HEA 1, 12, 144, ..., 20736 T Fifeg |- —

Find the missing number 1, 12, 144, ... E{;?:‘EIE'

(&) 1278 (B) 1782 “d(c) 1287 (D) 1728

=fz RED F1 UHG % % & Fifem fem s &3 BLUE =1 formr w9 & #ifim e s 2

If RED is coded as UHG, then BLUE will be toded as :

(A) EOXH (B) EOHU (C) EOHX (D) FMUH

ferer Uk o wg=A % Torg a1 w4 s 31 29 8 et e & | i gl i e E o M
Tome o wg=A & A 15 e e § e ag v =t fadla fewn F 00 fedt wam & ofn =it o o
qE= o o 8 Hier wemm &, we w s qem § ol w v % fa 8 e wem & feem W wd gy
Aaaeafrafem A 27 :

(A) ufEm (B) wfEm p =(C) FEC, B (>

Lihaan walks 8 m towards South from his office to reach park. Then he takes left and walks 15 m to

reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffee
shop, he takes left and walks 8 m to reach h{;lma. Office is in which direction with respect to Lihaan's

home ?

(A)  West (B) South ;~-‘:—-{c; Naorth (D) East

o T g 4 9, w0 fow = ge fewm @, 135/ Ferft o s 31 o e v w0 R F e A
afem-ufem fem femn H €m ? ]

(A) FR-ufum ® wwg (o) w (D) TW

In a compass every direction is rotated to 135 degrees from the ariginal direction. In which direction
will South-West be if the rotation took towards clockwise direction ?

(A)  Morth-West (B) MNorth-East (C) East (D) North

MYZ-24 17 PTO.



124,

125.

126.

127.

128.

129.

130.

131.

—v

TR AT, N R, S WD, R, o 1R K W2 AW SAGTS
feven < &, 1 38 %7s % ‘ORGANISM: 4 feran s 2 e divi
In & certain code, 'N' is written as ', 'S’ as ‘o’ R'as'Q,'0'as'P, T'as 'K, 'Mas 2 M
as 'S, than how will 'ORGANISM' be writlan in that-l:.u-d:a 7

(A) PQDZSMKJ  (B) DZMSJPOK () PQMKJZDS (D) PQSMJKDZ

3 T3 S ol T i fire o gl % sﬂ‘:‘ﬁm_aérurﬁﬁmiﬂm B7?
What is the angle between the hour and minule hands of a clock at 3 o'clock 7
(A 300 (B) 50° (C). 75° (D) 80°

AME 5.3 + /243 = 24 249 & A Jﬁ'ﬁ+15q§'ﬁ'ﬁnﬂmﬁ1ﬂ?

If 5.3 + /243 = 24,248 , then what will be the value of 792 + 153 7
(A) 38.84 (B) 37.84 (C) 40.84 (D) 38.84

W Wi U A, T v, s we e di e i i wde 42 & ofen d 96 e e 91
o H T e 8

A party consisted of a man, his wife, his four =ons and their wives and three children in each son's
family. How many wera there at the party 7 ™=

(A 20 (B) 22 Er 23 (D) 18
6 SRR U, V, W, X, Y 3z & %, 7w 3 & fis; 0w 8 5 3 =it & oo 1 W, V 3 S &, S a

1EFm AT I, WS v, U T, U st T d T we e SR E 7

Among 6 persons U, V, W, X, ¥ and Z, it is knownthat; U is taller than at-least 3 persons. W is taller
than V, who is taller than exactly 1 person. X Is nol shorter than W. ¥ is taller than U and X is shorter

than U. Who is 4" tallest among them 7 b8

(YRR (B) W (o x 0y Vv
T v Wi | :

Find the dissimilar word.

R54, WeEB, Us3, L36, ¥75

(A) AS4 (B) UB3 {C) ¥75 (D) Wes

W 9 & TR I A1 e O 9 Wi e

Find the number that comes in place of the quéstion mark.
1:1:7:189 ] e
(A) 15 (B) 12 ©) 18 (D) 14

B et

M, N, O, P 3t Q i firs 1 9 & weire 1 mhend ssverm—sremt #1 0, P afie N o & sk vt M i
Q# S ¥ | dam wE wiE N EE e S En g

M, N, O, P and Q are five friends. Each of them'has a different height. O is taller than P and N
sd‘-nrt'er than M and Q only. Only one person is shorter than M. Who is the shortest 7 ang

(A M (B) O (C) N D) P

T T

MYZ-24 i8




132, m@ﬁrﬁ‘ﬂmwmﬁﬁﬁmﬁﬂﬁa—ﬁm@m AT ?

133

134.

135.

136.

137.

Which of the following figures will come inithe'missing placa in the below figure ?

s,

Ao 15
(A @ (®) O '-_'_.:-q;':c} v (©) A

fereifiin s H T HE w9
Identify the incorrect number in the following series.
12, 10,6,1, =8, —18

() 12 (B) 10 alB) . =18 Dy 1

)
T T T e #, 25 Bl A T 2wy Atz 1 i S = e fomen | 9f T e W i BT
e 1, B A e & e S, W e w et w5 Tor st A A Hen =
%} .'-.

In a school sports club, 25 students decided to participate in a table tennis singles tournament. Each

time a student loses a match, they are eliminated from the tournament. What is the minimum number
of matches required to determine the winner?

A 25 B) 26 ey 27 D) 24
FTA-HS9E 1 ST I E, FE UF i IR T 9 o HaHial U W 5N W W §
(A i (B) wHe (C) W (D) e
What is the shape of the cross-section, when a cone is cut by a plane parallel to its slant height 7
(A)  Ellipse (B} Circle {C) Hyperbola (D) Parabola
fam =t @ w1 E':x:
Find the odd one. : ;_:-" : :
i A #

& -FeefE -G

@ ] ] ] s
% T o = =it & fm 8 '1-"’

() Wt emfe  (B) SR (C) wRmemfE (D) TN
Choose the option which is different from the rest.

(A)  MNorhAmerica (B) Argentina (C) SouthAmerica (D) Europe

MYZ-24
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138. 1999 A, B, C #i D % & 59 (X) %1 5t wrr-wfrfera gfie !

Choose the correct water-image of figure (X} from alternatives A, B, Cand D.

*x H© .y
@ |
) Spw
W Ex ®xa ©eoxz © X2
139. HEgFE 0 Fi : |
'ﬂ-"-ﬁ:ﬁ'lﬁ HHE S L .
(A)  3vEE (B) qEH (C) " == (D) oTeAfR
Complete the analogy :
Rain : Flood :: Drought :
(A) Famine (B) Storm (C) Harvest (D) Abundance

140. U% setwwity SR R-TEeEmeiy = s aem § w6k |
(A) et w Hw afif € wmfe R =t wie e T
(B) Ir-riwria T i swm w0 w6 @ gE ¥ s e § sEe 1
(C) r-mefraveoia ool it v 4 v B4 &, < ey Tt i geelt @ A A €
(D) el Sl 1 T % e TE T R E v W 8, S i
T R T WS | g

A renewable and non-renewable energy source E}Eﬁmatent becaues _
(A) Renewable energy sources are finite, whilemon-renewable energy sources are Infinite.
(B)  Mon-renewable energy sources are more-anvironmentally friendly than renewable energy

Sourcas.
(C)  MNeon-renewable energy sources are derived from the Sun, while renewable energy sources are
derived from the Earth. )

"
(D) Renewable energy sources can be replenished naturally over time, while non-renewable energy
s0urces cannol.

141, Toernl ol el wfim 1280 =i = o oE o oden § 9 S W E O TeE 15 ot s
Toierer 8, o o o Torm e &2 e A > s

A group of 1280 individuals, consisting of teachers and students, is attending a conlerence. For
15 studants, there is one teacher. How many leachers are in the aroup 7 & Traneey

(A 75 (B) B8O {C) 85 (D) 70

142, = wifag o, ampfa (X) F o 70 g gl § S-w vt and o w7
Find out which of the figures can be formed fmmf.tl:la,piﬂms given In figure (X) 7
WA

P
7 w § (M

LY

(%) =

, N
Ty
A) 'H (®) g ©) ‘“‘I: (D) |:

MYZ-24 20




143, HF-M Y= T H A 87

(A} TR (B) e (C) ¥m o)
Which word does not belong in the group 7
(A) Carrot (B) Banana (C)_ Apple () Cherry
144, % E H, g FEerd 100 #1133 9 € 0 2 A, v faed ofF et d wea &1 5 T
= =z, Uferd o 130 & §, 909 % 90 of ¥, =i k120 siw ¥ il # 110 dw o ARyl
3 1= # 30 3% WA fww, @ i 2 wEE A =0 e st et 2
In a game, gaﬂ:h playar stqrm with 100 points. In each round, a player can gain or lose points, At
5 rounds, Alice has 130 points, Bob has 90 poinis; Charlie has 120 points, and David hasp::;r;}fmmgf
|f David gained 30 points in the first 3 rounds, how rhany points did he lose in the last 2 rounds 7
(A) 40 (B) 20 (C) a0 (D) 10
145. AEA+BF A ITHA BREL AxB Wi B A, Bt SA-Bmad i i potam
& frefafom § 9 ST dey soim R |, K 2 sl 27
If & + B means A s the brother of B; A % B means A |s the father of B and A — B A '
B, which of the following relalions shows that | |5 the nlece of K 7 iy i ey
(A) K+YxI-Z (B) Z-IxY+K (C) Kx¥Y+I-Z (D) K+Y+Z—I
146. feg 7 fom A gl (3o ) = dem g
Find out the number of tdangles in the figure, e
1 P
3/4]|5\8 —
: 7|8 RE)
9 13 i
e N ey
18 et
(A) 38 (B) 46 iC)™ B0 (D) 32
147. ST T W HL|
Find the next one.
(A) ’ (8) 4 (€], A (D) b
148. fae 2 M3
Find the odd one out. |
o AN @ A o } o |\
= = . N
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149. 7T i wrrd wom S €7

[A)
()

=L St 3 T frema § (D) ﬁmﬁﬁﬁﬂfﬁ“ﬁ?

How are rivers and streams similar ?

(A)
(C)

150.

@ o an o

Both contain saltwater (B} ~Both are found in deserts
Both are static bodies of water {E.!i JBoth fiow downhil

Toen %z 4 e wewdl % w9 % fo 96l v fEn ol

1 T, 2023 7% o1 23 # 28 =7 & wl |

#H orvE TR st

W H FH 60% sieRT % T HEE UEiHyE f g 2
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Consider the conditions for selecting faculty mambers in a computer education centre :

a.  Age between 23 to 28 years as of November 1, 2023.

b. Waork experience or programming experience.

c.  Postgraduate degree in computer application with at least 60% marks.

d. Minimum of 25 marks in the interview out of 50.

e.  Ifthe candidate does not have PG, the case is to be referred to the senior faculty member. -

. If the candidate does not score minimum marks in the interview, the case is to be referred to
principal of the institute.

g. Ifthe candidate satisfies all other gqualifications except the age limit, the case is to be referred to

the director of the centra.

Which course of action should be taken for Manish Kumar based on the following information?

Manish Kumar : M.Sc. In Computer Ec:ienEebi‘,i_rilh 62% marks. Date of birth : July 10, 1990. 4 years of
experience as a computer teacher. Obtaingd 40% marks in the interview.

(A)
(B)
()
(D)

Candidate is to be selected as a ]uqiut.far:uttr member
Candidate is not to be selected ‘&t
Dala is inadequate st
Case is to be referred to the direcler'of the cenlre
]
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